PEAK
PEAK

ME AN

10

ME AN
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mmH g °C

n
1 1 146 9|2 6 8
2 9 106 6|5 74
3 4 106 7|6 87
4 6 99 6|6 79
5 1 117 713 8 6
6 0 113 69 6 4
7 3 106 7|2 61
8 9 114 69 58
9 8 104 5|4 69
10 5 100 6(8 6 6
11 9 139 8|5 76
12 3 121 8|0 6 6
13 7 98 6|3 58
14 5 110 711 6 3
15 2 101 5|8 79
16 1 100 6|5 79
17 0 113 6|2 69
18 0 116 7|0 6 8
19 0 111 7|4 65
me a 26 11 7 70
S. [ 5 133 9 9
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c m/
PEAK/ MEAO 2 3
1 73/ 57 84/ 61 9p/ 64
2 79/ 55 73/ 54 79/ 54
3 66/ 46 59/ 36 79/ 55
4 90/ 70 88/ 66 10B/ 88
5 106/ 81 11/ 84 12D/ 90
6 83/ 57 92/ 66 9D/ 63
7 78/ 55 83/ 63 83/ 59
8 81/ 58 84/ 61 8B/ 64
9 95/ 70 99/ 70 o4/ 75
10 73/ 55 79/ 61 88/ 70
11 63/ 45 70/ 80 77154
12 63/ 46 68/ 530 77157
13 50/ 37 63/ 46 64/ 48
14 61/ 43 73/ 54 68/ 50
15 90/ 64 97/ 70 97/ 72
16 66/ 50 81/ 63 8B/ 61
17 785/ 54 83/ 859 86/ 61
18 79/ 61 83/ 54 9D/ 66
19 70/ 54 77187 8B/ 61
4. 4 PEAK ME AN

90/
93/
84/
10/

117/

92/
8 3/
92/

108/

88/
81/
81/
66/
68/

101/

81/
95/
93/
84/

6 4
6 8
59
8 6
8 6
6 6
61
6 4
75
6 6
57
61
50
4 8
72
61
6 8
6 8
63



0 1 2 3 4 pair wi se

-
I+

cm/ s ( mea s mpar|i son

4,3,2>1,0
Pealk 717613 8113 | 88414 8814 8814 24.
1>0

<
®
QO
>
W
(o))
I+
=
O

5910 | 64

14+

11 64210 6410 14.

Peak time effect F=24. 33, p 0.01

Mean time effect F=14.53, p 0.01
0 1 2
3 4
PEAK 4.5 4.1
ME AN 4. 6 4. 2

4. 5 PEAK
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cm/ s

( mean
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pairw

SO mpar

8113 | 88
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Peak t
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ME AN
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ef fect
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1 2 3 4 pair wi se

cm/s (mean = S®Ymparji son

)61 0 5910 | 64411 6410 6410 14.

(@]

me effect F=14. 53, p 0.01
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mean:

PEAK

Emean: PEAK

2 3 4

p 0.01

p 0.01

PEAK
mean: MEAM

COmean: MEAN

2 3 4

p 0.01

p 0.01

ME AN



